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0. TREEH (G04)

Oil price keeps falling. You own a small business, which is direcﬂy proportional to 95 unleaded petrol
price, and want to make some adjustments for your business. You collected the monthly average price of
95 unleaded petrol and the morithly Customer Price Index (CPY) for the last 6 months in 2014 shown in
the table. Given that your annual minimum attractive rate of return (MARR) before tax (i) is set to 12%,
petrol price change rate is considered as the total price escalation rate (¢), the CPI change rate is
regarded as general price mﬂatlon rate (f), the base is st to July of 2014, please answer the

guestlons.

[

Table: 95-unlead petrol monthly average price and CPI for 2014

Month ]uly August. Scpfember October November December
Price (§) 35.21 34,45 33.5 '32.38 30.51 27.99
CPI 107.7 108 108.3 108.7 108 108.7

1) Based on the definitions of the price mﬂatlon and total price escalation, please find the fand e for
the last 6 month in 2014 (24 pt).

2) For the last 6 months in 2014, determine monthly inflation-free MARR (i) (6 pt) and the
differential price inflation rates () (6 pt) for each month.

3) Due to the influence by inflation, Determine the semiannual effectwe rate of inflation (f) (6 Pt).

4y  Make ad]ustment for your annual MARR based on the results from (3) (8 pt).

¥*To find Present value given Future value (P/F) at the first Id years, discount rate: :
1=1% i=2% =3% =4% 1=5% t=6% i—8% =10% i=12%

Period 1 9901 9804 9709 9615 L9524 9434 9259 9081 8929
Period 2 9803 9612 | .9426 9246 .9070 .8900 8573 8264 L7972
Period 3 9706 9423 9151 8890 8638 - 8356 7938 7513 7118
Period 4 9610 9238 . .B885 85448 .8227 7921 7350 6830 6355
Period 5 9515 3057 8626 8219 7835 7473 . ..6806 6209 5674
Period 6 .9420 3880 8375 7903 62 - 7050 .6302 5645 5066
Period 7 19327 8706 8131 7599 7107 6651 - 5835 5132 4523
Period 8 9235 8535 7894 7307 6768 6274 .5403 4665 4039
Period 9 9143 .B368 7664 0 | 7026 646 .5919 .5002 4241 3606
Period 10 9053 8203 7441 6756 6139 5584 4632 3855 .3220
*+To find Present value given Annuity (P/A) at the first 10 years discount rate: )

i i=1% i=2% i=3% i=4% i=5% =6% =8% =10% 1=12%
Period | 0.9501 0.9504 0.9709 0.9615 0,9524 0.9434 0.9259 0.9091 -0.8929
Period 2 1.59704 1.9416 1.9135 1.8851 1.8594 1.8334 1.7833 1.7355 1.6901
Period 3 2.9410 2.8839 2.8286 2.7751 2,7232 2.6730 2,577 2.4869 2.4018
Period 4 3.9020 3.8077 3.7171 | 3.6299 '3.5460 3.4651 33121 3.1699 3.0373
Period 5 4.8534 47135 4.5797 4.4518 4,3295 | 4.2124 3.9927 3,7908 3.6048
Period 6 5.7955 5.6014 5.4172 52421 5.0757 4.9173 4,6229 4,3553 4. 1114
Period 7 67282 6.4720 6.2303 6.0021 5.7864 5.5824 5.2064 . 4.8684 4,5638
Period 8~ 7.6517 7.3285 | 7.0197 6.7327 6.4632 6.2098 5.7466 5.3349 4 9676 1
Period9 | .8.5660 8.1622 7.7861 7.4353 7.1078 | 6.8017 6.2469 5.7550 5.3282
Period 10 24713 £.9826 8.5302 8.1109 7.7217 7.3501 6.7101 6.1446 5.6502
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